Name: Two and three digit addition

Three digit addition

1) 665 + 353 = 11) 994 + 974 =
2) 952+773= 12) 955 + 762 =
3) 417 +578= 13) 483 + 812 =
4) 764 + 366 = 14) 358 + 128 =
5) 216 + 172 = 15) 922 + 634 =
6) 740 + 857 = 16) 481 + 851 =
7) 961+ 120 = 17) 596 + 374 =
8) 629 + 849 = 18) 419 + 244 =
9) 340 + 843 = 19) 489 + 301 =
10) 646 + 568 = 20) 629 + 433 =

Answers, fold under: Mark your work when you have finished.

1) 1018 6) 1597 11) 1968 16) 1332
2) 1725 7) 1081 12) 1717 17) 970
3) 995 8) 1478 13) 1295 18) 663
4) 1130 9) 1183 14) 486 19) 790
5) 388 10) 1214 15) 1556 20) 1062
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